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The graph of the exponential function flx} = 4(0.5F" + 2 is shewn.
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Multi-Part Technology Enhanced March 18, 2019, Monday

March492046Fuesday—

Factor each completely. March 20, 2019,
3 25524 G= 5? b=2_ Wednesday

(5p+2)X5p~2)

Algebrg 1 B Day 1 Solving Quadratic Equations by Factoring
Ifa"b ~0.then eithera=0,or__Ja = ) . In other words, when two expressions are being
of 2600

ExcIF3 b = 0,then b mustbe equalte O orifa-5 = 0,then “a” must be equal to_ (3

Xe2x-15y&olad

Afow more exampls /

172+ (- ) = 0, themither 2 +7 = 0,0 X Y -o.

How to solve these equations:
Original Problem GING-H=0
Step 1 - Set each expression equal tozero | (x+3) =0 X-5:=0
xt3=0 “5-0
Step 2. Solve each equation =0 R
Answer - There should be 2 =-3 X=8

axtye

Try another: (2x + 3)(x —4) =0,

MOST OF THE
already factored like: (2x + 3)(x — 4) = 0

Original Problem

Step 1 - Factor C+HE+D -0

Sop2-Seceschexpresionequattozero | X ;/:o X+ % 0
- - ’5 — -

Step 3 - Solve cach equation

Ansuwer ~ There should be 2 =3 X=-

%ﬁl/"‘f’l,aanswery_n_j_l-
repeod x=3, X= %

Solve each equation by factoring.

%) (2x-73x-7)=0 9) (r+7)r=1)=0
Cho
OIS(’ 10) Wy +7)=0 1) 3N+ 7)=0
12) K -k-42=0 13) p-9p+20-0
Se

th 16) 7K 860 17) Tt 4 10n -8 -0

18) 7% - 126-4=0 19) 2% 4 15y 25 =0
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3
(v-1)v+3)=0-1 ?'4- (m-2XmE5)20 -><S
- ™ =0
*lﬂo'%va_ _g~| S m~€-*01 22 0
l,‘\k V= vz} M= 2 m=-5
R s 90N X ormo pp kInco0
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Algetra 1 ) Name
TOTD Solve by Factoring.

Solve each equation by factoring.

1) (r-8N8r-1)=0 2) 0’ <6n=0
3) 7+ 105160 4) 5K+ 116+ 6=0
5 n-16=0
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ctoring

Solve each equation by factoring.

D x+1)e+7)=0 2) pi-bp+5=0
3 F-a9=0 4) 207 - 130-7=0
5 nten=0

March 22, 2019

March 19, 2019, Tuesday
Item 18
Constructed-Response
Shaun recycles bottles and cans. Ha eams he recycles and 5 cents for each
can he recycles. After recycling a bag of bottles and cans, ke gets a receipt that states he eamed
$12.75 and recycled a total of 210 bottles ans. T@ietermino the number of botties and the
number of cans he recycled, Shaun writes thé sysfem vqua!l ns helow. hi ')
3 b gr
S uloSHhibw
10x + Sy 5
= )ﬁ\lvﬁn'\c.-l-lmn ®

PartA  What does the x represent in terms of the situation? Write your answer in the space
provided.

PartB  Shaun graphs lines to represent the equations in his system. What are the coording
point where the two lines

Part A LSDH’ES _ 'ID
s K0S t»\fi‘ws

Algebra 1~ Unit 38 Day 2

Solving Quadratic Equations by Square Roots

MGSEY-12AREL4: camsolve a quadratic equation with one variable. .

+ A square ot s writen with the radical symbol... | —\—-—
totake the

* Thegoaliasngensigfmrablcyaquared oy iecl
What do you think we should do? ON step:

X =

# “H | -w

X= *1‘5 X=%*3.7

Snlveﬂmﬁzllnmng'l'wosmpqumvns

x=*Yy

3 X 4 xH}g s')

Sg%
AT

x =172

Solve the following THREE step equations:

Tosvag-ap v
v

T

Solve the following MULTI step equations:

X=-3%}

OaEEs K= -3 2 -2|* G1 UL
"Z Sy 'Fh""”‘* T 4-9

X43=1

und

X-lp=* g
o 2

10. 25 _ ; 2_ 113(x+3)75 &
A2 1043 Heviz »f=a3u-
i;x-mﬁ-*fﬁ_}—? xeio-3s 5 Sl xorgnl)

[$4

&+3 ~*‘F[

- S
X =105/

_'lg-;b(,
X=3T

Algebra 2

Solve each equation by factoring or taking square roots.

Name,

TOTD Solving Quadratics by Factoring/Square Roots

DB eap=0 2 b= 5h-6=0
3 pi-1=0 4107 =17 +3=0
5 =4 6 58212

7 365 +7=71 8) (x-4f=25

Algebra 1 ~ Unit 38 Day 3 Name

1 X “’q z;;’;i": 54

WE \[;S '&33- /_‘_'Jﬁ?

X242

LW STy g
L 2xgs 23 F=299
yet k2] - *
w2 ¥ Xe3zaq
X323 k3, OX F+39:16.2
2

7. (x+3) +4=18 8 (20r6) -8=2¢ 9 x2+21 5 Q‘OQ_ -qq
+{ +3 "l| ‘7_,(
A58 Tlzxe > ER2
‘—Ji*;\f%{—z)w 2ecfs 1506 V. Vb
UMK e

Agetra2 Nam
TOTD Solving Quadratics by Factoring/Square Roots

Solve each equation by factoring or taking square roots.

Dm=3me2=0 9 nte

3w -16=0 4 2ve6=0

5 =16 6) 36 =16

78 -2-30 § (e a8

ates of thg
{ersect? Write your answer in the space provided. m {q
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Harch20-2049-Wedmesday- March 22, 2019, Friday! AR ) X -2v-1S 3X-5
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S X213
- (120
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X% =Ty -2xM
X ‘1!>'cx+u?

DEP+3x=5 azl 12,0
)@2((7-4'37(‘/0 &f[ X

(iv=Lx+9 Xk
Q\_%XX 2‘) 9<7~ c (x2Xx-3) —3>¢]\<3
A ol Dy AR5

@Wb ) ars

x X+ /) XZ*5’“‘03 N

G- pi-12) " (g(X+%)
ex-oy (el
o) GCF,DOTS 221 §x=~bx-2% X
13\ 14

¥t~ 13 K2 -l x = Alle -
AlYyx=- ) (- [ +igy 28
Al2x+325-3)  (Hx-n@x+3)

AiSolarelthevariables
# Crecde & binomiq)

Squared
Leeuy! l4<<p eqn balanced
) Soive ench equaiiis b Gnl el & square.
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(2-5)" (x+6)” 2 Hr-}} -t ‘5\+q (me)= = -z2+W

r+)( =1 (0 (Mg il

-_-.,.-p 10 mt} 2_8116,
(:5 F=~13 M=%

M2-3 4T me-§-Tq
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Agobra 1 ~ Unit 38 Day 3 Solving by Completing the Square Name

Solving Quadratic Equations by Completing the Square

1. Revrite soal terms containing x are on one side.
X the equation.
1o both sdes,
3 o
the equation.
4. Take the square root of each side.
5. Solve forx.
6. Checkyour answersit
Solve each equation. G’D\
ded Ay o

3 +20x-73=0

4 X +6x-72--8

ﬁ 5 x*-106-56=6

¥= 52 T§t
=143 -4

6 X -1ax—

58
5 5
X < g3

(S R 449
}-1) = £33
e i
J 13 122

X=3i(32
e

Algebra 2 Name,

TOTD Solving Quadratics (Factoring/Sq. RoovCompleting the Square)

Solve each eq

tion by factoring.

1K - sk=0 2 n-16=0

3) K rorsi4=0 4 5w’ =23m-10=0

Solve each eq

tion by taking square roots.

6) 48+ 32403

Solve each equation by completing the square.

7 oare3eo 8§ K 123520

TOTD Solving Quadratics (Factoring/Sq.
Solve cach cquation by factorng.

1wt -dn-21=0

3w -Gn=0

Solve each equation by taking square roots.

Solve each equation by completing the square.

7w+ 16n-36=0

Name.

'Root/Completing the Square)

2) 57920

4271580

) ' =161 +60=0

Algebra1~Day1 Solving by the Quadratic Formula Notes
‘The solutions of any quadratic equation (ax? + bx + ¢ = 0) can be found by evaluating the quadratic

v = ZOEVB) —4(@)(c)
2(a)

Examples: Use the quadratic formula to solve for x
1268 - 108 —

2.9¢7 42 =3¢

March 21, 2019, Thursday

1. What s the y-intercept of the graph of h(x) = 2' - 42

2. What is the range of the graph of flx) = =3(x - )7

3

Algebra 1~ Day 4 Solving by the Quadratic Formula Notes
‘The solutions of any quadratic equation (ax? + bx + ¢ = 0) can be found by evaluating the quadratic

B OF N O (GI6)
- 2(a)

Examples: Use the quadratic formula to solve for x
1207 —10x—5=0

2.9 +2=3x
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Algcbra 1 - U3B ey 4 Name
Solving by the Quadratic Formula

Solve each equation with the quadratic formula.

1) 4a*-9=0 2) 6p" +8p-30=0
3) 667 +Th-68=0 4) 574 11=0

5) # dr 68

7) - 8k=21 8) 40P =144

e Kenn Satnnr s i AT sibs s e s

Name.

TOTD Solving Quadratic Equations (any method)

S quation y oy . square root, completing the square, or quadratic
formula). SHOW ALL OF YOUR WORK!!!

Dy i2p-143=0 2) 48~

3) 4= Tx-15=0 4 4432720

March 22, 2019

9) 27 -5+ 3a=-10-8a =30

1) 30 45=9n

13) 26 4 116138 =0
A lo,-11s)

B) Nosolution.

© 2317331
D) (18471, 7471}

15) 4k =25

10) = $m =91+ 2m

12) 127 - 9p - a4=dp 1 8

1) 6% 4 Tn=20=-7

o b
B 6,-15]

©) 19,899, -9.899]
D) [1,-2.167)

16) 6%+ Tx—64=4

formula). SHOW ALL OF YOUR WORK!!!

D e2p-1a3=0

3) 4= Tr-15=0

TOTD Solving Quadratic Equations (any method)

Solve cach equation your way (by factoring, square root, completing the square, or quadratic

Name

2 42-9=0

4 0tadv-2720

March 22, 2019, Friday
Item 13
ConstructedResponsa

Maria and Joff collect data on the number of cars that pass through an intersection every Monday

morming for 2 months. Thoy record the findings as 78, 158, 63, 71, 58, 67, 75, and 64. Thoy each

use different methods to summarize the typical number of cars that pass through the intersection at /

the specified time and compara their findins. Joff says that, on average, 79 cars pass through the . .
e ¥ moring Mo dtadees nd savs tht he e shovk ot b deed and reading...so many details!

Uses the median instead to deszribe the typical number of Cars that pass through the intersection on

any given Monday morning.

EOC released...close

Part A Wnat is the median value of the data? Write your answer in the space provided.

PartB  Explain why the median should be used instead of the mean. Write your answer in the space
)

G.O. then quiz...

Part A

PartB

x*+5x +6=0

x2egx+1l=0

- MOT s QUADRATIC
FORMULA

GOMMON/V
> QUADRATIC

SOLVING A
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«— MosT
| o) o~ M- Qe
o\,\fx?—'( x%5x+6=0 pRILA
(x+3Ax+2)=0
“bEiVptdac

x+3=0 x*2=0
a4
ARls
e

x=-% x="Z

CovneTie SOLYING A
@S ShoRaTio
rgn =0 EQUAT\ON
xZegx =l
¥z egy +16 =-1+16

*FRCToOR:
(x+4)*=5 *%=%6 —'40
W ﬂ «f—z-«r‘o

x y=2iVio

x =415
No REFL
SAUTIONS

NEfem- | (Two comPiEx)

2. (ZEAL g
SOLUTIONS
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